


!\Group Work 3, Section 1.6 1\ "'
" Irrational, Impossible Relations (Hint Sheet) ~

So, you realize that it's not easy to determine whether log2 3 is rational!
One way to attempt to show that log2 3 is rational is to assume that it is, and try to find integers a and b such

that log2 3 = ~. If we can show that there are no such a and b, then log2 3 cannot be rational.

I. Assume that log2 3 = ~ for integers a, b ~ O. Show that a and b must then satisfy 2a = 3b.
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3. Find a # 0 and b # 0 that satisfy 2a = 3b, or show that no such a and b exist.
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4. Is log2 3 rational or ~ Why?
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